
v = d    =  1000.0m      = 141.9 m/s
       t            7.045s

answers pg 358 #1,3a,b,7a
re­arranging the speed formula

Wednesday April 13, 2011

Warm­ Up
1. If Ken drove his motorboat a distance of 1000.0 m in 7.045s, 
how fast was his boat moving?

Quiz Tomorrow



Answers
    pg 358 #1, 3a,b,7a



3 a) If two hikers walk the Trans Canada trail for 6.0h and 
covered 31km, what is their average speed for the day?

d= 31km
t= 6.0h
v = ?

v = d
       t
   = 31km
       6.0h
   = 5.2 km/h

The hikers average speed is 5.2km/h



3 (b) If three bike riders on the Trail cycle for 6.0h in one 
day and cover 85km, what is their average speed for the 
day?

d = 85km
t = 6.0h v = d 

       t
    = 85km
         6.0h
    = 14km/h

The bike riders average speed is 14km/h



7.  d = 40814 km
     t = 19d 21 h 47 min

must first convert the time to all the same unit (h)

19 d     x    24 h    = 456 hours             47 min x        1 h         = 0.783h   
                 1d               60 min

21 h 

Add all these together    456 h + 0.783h  + 21h
477.83

  correct SD= 478 h 

v = d
       t
    = 40814km
         478 h
    = 85.4 km/h
    The balloon's average speed was 85.4km/h



Rearrangements of the Speed formula

v = d
       t

rearrange this equation for d and t 



1. Carl is riding his bike.  He knows that the distance is 
45km and from other trips he can average 20km/h.  
How long will the trip take?

Step 1 : 
Write down what you know on the left side with symbols and 
values.  As well write what you want to find.

Step 2 : 
Use the formula to solve (Rearrange if necessary) 

Step 3 : 
Write a sentence.



2. How far (in meters) will you travel in 3 minutes running at a rate of 6 
m/s? 

Step 1 : 
Write down what you know on the left side with symbols and 
values.  As well write what you want to find.

Step 2 : 
Use the formula to solve (Rearrange if necessary) 

Step 3 : 
Write a sentence.



Complete questions 
pg 358 # 3cd ,4 ,7bc, 8,9



Attachments

pg 349 3,4,6,7,9 answers.notebook




images/clipboard.png

S0

S
)
()
3D

P9 A4 Arsuecs

10D e B signdicant dgirs
20.2 /s whiatte  vuenleer
50.0 am > signiicant d\?&s
0. 081 ke 2 y !








images/clipboard(1).png

H. o) 2Z,671H ke v) 0.00D422 9
B2\ Ke 0-00212 g
Q¥

392 x 10" o

O AT Bl o
0% s








images/clipboard(2).png

. 2249 X Qlevm = 2224 e = 2. 21

12} Z S e fewest $.7.
) H DK = BAEN/A D s tre dewess ST
5.2\
>
ISEEE S x \.1Q = 19.% = 20 2 is¥ne
Ty __’%__ 5 3

PN Cowent S.F.








images/clipboard(3).png

d) 12 B v L = 2w 2 s Y tewest
LYY S.¥.

D 1.l + ABL L5 25
120 1% fewoterdy decimals 1S moe
{ZV L

) D20 ¥ AQE 20:02v
Q12 1zm fewRSY  decWAS 1S mone
1OV 2\








images/clipboard(4).png

P O 2ci~t 23 e + 0:bzen
2413 em L s de fewest docional
AN TN

WD 63w - QDN
V33 s e feqsest docwral
\EHRSY

D 3B WL O
10204 vamn s e Levest decimall
102\ v

3 B2 & HG1Es 4+ 02ds
W.H36S 21 dhe fewest docwnal
\Wo-.H4 5








images/clipboard(5).png

Tan C = 2Ty
< =r
A









images/clipboard(6).png









images/clipboard(7).png

1.0 3 A X e = 0.8\
LQ

BY 0. DIV K % 1LDOOM = BiQ
\ Kk~

D 002\ v % LOmn % Os%ec = 71k sec
(=N R0

4) 25K % 1000w x L X\ e :(p."\%
')

BTN ©O v LQOsec








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1                            






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=5D067769-2063-4F1A-A4ED-04156876C455  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2009-09-11T09:01:58  1.0  LOMv1.0 final






preview.png

SO I Ao
am ot s

22T =it
SWT e
comeme wamwa

T ovimE








page0.svg

  Sep 11-9:01 AM   






page1.svg

  Sep 11-9:02 AM   






page2.svg

  Sep 11-9:03 AM  






page3.svg

  Sep 11-9:04 AM   






page4.svg

  Sep 11-9:05 AM  




SMART Notebook


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Attachments Page 1

